Starting points for

Sine Graphs| y = aSin/Cosx Cosine Graphs
Positive a Positive a

Starts Starts
on the Midline at a Max

and goes UP

Negative a NEgRIe

Starts Starts
on the Midline at a Min
and goes

DOWN

y = aCos(b(xxh)) £ k
a — \ert strecth or shrink - Amplitude

Also x-axis reflection if negative
b — Horiz stretch or shrink  Period = 21/b and b = 211/Period

h —s Phase Shift - Horiz translation - x-coord of starting point

k — Vertical translation - Equation of the Midline
gives you y-coord of pts on midline

This is ALL exactly the same as Sine.

That's why if you know the Sine function well
you already know most every thing you need
to know for Cosine!

y = aSin(b(xxh)) £ k
a — \Vert strecth or shrink - Amplitude
Also x-axis reflection if negative
b —  Horiz stretch or shrink  Period = 21i/b and b = 211/Period

h —s Phase Shift - Horiz translation - the x-coord of start point

k — Vertical translation - Equation of the Midline

gives you y-coord of pts on midline

1. Write the equation of this transformed Cosine Function.
AM‘P\I‘L%A,QA -4y =77
midline . g=¢9

‘]berwc\,-_- (27 72

—

3 =
/2

o IFSTART AT (”?77/—5)

"

3
( 5 1)

C

|

x|

ELE )
77T 3

o START AT /A MID
0= —"7 (67("&?“ )S M’Fﬁld&dﬂw’)

‘ ks Y

2

— = S
121 = T = AN .= = =
=5 y?.CYle g &7 Y

Phase shwi G- ”TW 72 THE RUGHT

Y10 (5 (-8 14



2. Write the equation of this transformed Cosine Function.
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om Write a Sine Equation for this graph.

(2L 5) This is the same graph as the
previous question. The amplitude,
midline, and period are all the same.

But the starting point will
(15?71’0) be different.
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Write a Cosine Equation for this graph.
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Write the equaﬁon of this graph as a Cosine Functlon
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Vrite the equation of this graph as a Sine Function:

Same period, amplitude, and midline as Cosine.
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Graph one period of this function. Label the coordinates of

all x-intercepts, Maximums, and Minimums. You can now finish Hwk #21.
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to find the x-coord of any point add
T to the previous x-coord. To do
this you must turn 17 into 611/6 to get
the common denominator.



